RESULT 2024.12.15 M-1 @

M—1535271

DNS/ZE# DNF/ZRHEHE DSQ/LH

Be—r3 39 ARB ARB AN
[RENTAL] i ! ! ! 271719
FEATIE EF A SYhit fitiE 28 1= 8 2[EH @B | IER|D|@|®|@|arrt
1 HWAE 5 £IFH b= FX 44.65 44.65 53.96 56.90 3 27
2 E ZHRHO =L FX 99.99 DNS 99.99 99.99 11 1
3 fEx f8— L LALS FX 46.43 46.45 50.43 46.43 6 16
4 =k S AAES BHE FX 47.08 58.56 48.18 47.08 8 5
5 FHfE F0th £BEM MR FX 48.86 51.17 48.86 49.90 10 2
6 E B=E ELEh FHE FX 45.20 45.20 4553 45.66 5 10
7 BA FX his WEVS FX 47.86 49.81 57.11 47.86 9 |1 3
8 IWFE & PFEE ML FX 46.47 48.87 48.12 46.47 7 6
9 HKE ®C fzI312 DR FX 44.40 46.59 45.12 44.40 2 30
10 [=fE HF AAES BT FX 44.97 48.72 45.70 4497 4 14
11 H LT I FX 43.76 45.68 43.76 43.96 1 50
AR AR
[SINGLE] 10 l ons | IR71F1y)
EATIE EFA YA fErE ST 8% 188 2[E1 8 3EEB |IERZ|D]|@|®|@|ar/rt
1 R #& LIV | 760JS 47.03 47.61 DNF 47.03 5 10
2 BiE 2= fAMEL #=<Z35| 1500SX-R| 50.91 51.76 52.12 50.91 8 4
3 wE g- =9 AL | GPIR 46.71 46.77 47.35 46.71 4 20
4 = BA HoE¥E SLUE| 1500SX-R|  46.04 54.41 46.21 46.04 2 40
5 it = #-&b FHE| EXR 4568 46.43 46.30 4568 1 40
6 g == PFEEL fp&L| JS550SX | 56.31 56.31 70.11 57.62 10 3
7 =iE B f=tNEL ®A505|PROFORCE3O[  49.76 51.34 135.41 49.76 7 12
8 i Bt WwHs t=h#D| 1500SX-R| 48.40 48.40 51.03 54.31 6 8
9 &% E— D LALSG SJ 52.34 52.34 53.34 54.64 9 3
10 [&A f@— < (FALG | 1500SX-R| 46.22 46.48 54.24 46.22 3 30
AR AR AR
[RUNABOUT-NA] 10 DNS  DNF ! ! l AT 190
FEATIE EFA AU fEtE L8R 18 H 2[E1 5 3EEB || D|@|®|@|ar/rt
1 TH RE Vbt ®F5#  VXR 44.86 45.84 44.86 45.31 3 45
2 =k B2 ZAES BT STX-160X| 45.28 46.17 57.15 45.28 4 14
3 B &=/t #E HPFU VXR 45.74 45.74 46.49 46.46 7 6
4 BA FX hte WEVA|  VXR 4551 4551 46.54 45.96 5 18
5 =k 5= AAES F&HE| STX-160X | 49.23 49.43 236.53 49.23 10 2
6 Bk ECB nnE VXR 46.59 52.88 46.59 46.65 9 3
7 iE W= =¥h Fawx| EXR 45.73 46.48 45.73 45.76 6 20
8 =k S ZAES BHE|STX-160X| 46.23 49.62 49.09 46.23 8 5
9 TH &I} Dbtz MlrE VXR 44.69 45.60 44.69 45.06 2 35
10 [#&%BE 5 &ZTHM H=B|  VXR 4354 4455 44.04 4354 1 50
[RUNABOUT—OPEN] 8 l l nhic IR71F1y)
E17IE EE AUBT fjiig 06k 16 B EE 3B |IEE| D] @] 3] @]|erret
1 A K& Bmbe =L RXP-X300( 39.30 40.14 39.30 39.40 3 23
2 Rig 52 #HEE DEL | RXP-X325( 40.26 41.28 40.26 40.57 4 12
3 B Rt #& 90 |RXP-X300| 41.95 41.95 44.03 42.33 5 10
4 fEH sk [F7Ly £30V5| RXP-X260(  39.03 39.24 39.03 39.71 2 20
5 iZE B=E Er=&h F3WE[ RXP-X260( 42.03 43.03 42.96 42.03 6 10
6 fEx f8— #Uv LALS|RXP-X300| 42.85 46.93 42.85 42.97 8 4
7 EH E} Vit= mE [ RXP-X300| 42.57 43.32 4257 42.76 7 6
8 pu] s AN W =a48 RXP 37.69 38.03 37.69 37.84 1 40




